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Compare the methods of teaching with their meaning :

List - 1
(i) Demonstration method (q)
(i)  Heuristic method (b)
(i)  Project method (c)
(iv) Problem solving (d)
method

Choose the correct option :

List - 11
Attitude of discovering
Visual presentation of the
action and acfivities
related to facts
Provides opportunity to
analyze and solve
Problematic act carried
fo completion in its
natural setting

NetTeu(HLd SMLINGHSH6L (PemmEBemsT Sjsummlest GClummGsTT(h) @lemsvors s (hHls.

uLigwiev | UL igwev |l
(1) O&wug &sri{Hb Wweom (i)  &60T(HSlg8 (&L LOESTLILITESTENLO
(2) 2 6TenmihHS (PO (ii) 2 6BOTENLOG6T GIGTLTLITEsT
GClFw6v MHMILD
Clewesvum(haseflsr smid
69l6m& LD,
(3) OlEWeSHILL (pemm (i) uGUUTLEY ClFWIG| & EW
SUMILIENL 6ULPMIEGHH MG,
(4) H&E&L FTSH G WO (iv) Urgaeners@iflu ClFwensy
S| S65T @UIGOLITEST {6MLOLILIIE0
_ ClFWIg| (PYEHSH60.
gflunerengsd Carea| Clawis.
Az (D)-(b), (iD)-(a), (iiD)~(d), (iv)-(c)
1-(ii), 2-(i), 3-(iv), 4-(iii)
B: (D)-(a), (i)-(b), (ii)~(c), (iv)-(d)
1-(i), 2-(i), 3-(iii), 4-(iv)
C: ()d), (i)-(e), (iiD)-(b), (iv)-(a)
1-(iv), 2-(i), 3-(ii), 4-(i)
D: (i)-(c), (ii)(d), (iii)-(a), (iv)-(b)
1-(iii), 2-(iv), 3-(), 4-(ii)
Match the levels of teaching :
List - | List - 1l
i)  Memory level (a)  Cognitive field theory of
learning
(i)  Understanding level (b)  Gestalt field theory
(i) Reflective level (c) Thomndike's
connectionism
&SMLINGSH60 [HlemsuasmerLl blLIM(HE5S)5.
uLigwisv | uLiguisv Il
(1) Hlensrey Blemso (i) sooeSler sileumbmsy
Lev Gamrium(y)
(2) uflzev Hlemsy (i) EssuLmell gy
Gamium(y)
(3) Urdluediiy Hleney (i)  BmyevoTEn L &&lesr

ElenemTliL g Gamium(p

gFiflwmest sfl(pLLS CaTallemen G&iTHolSH([HlGSHLD.

A (D)-(e), (ii)-(b), (iii)-(a)



1-(iii), 2-(ii), 3-()

B: (i)-(a), (iD)~(b), (iiD)~(c)
1-(i), 2-(ii), 3-(ii)

C: (D-(c), (iD)-(a), (iii)-(b)
1-(ii), 2-(i), 3-ii)

D: (i)-(b), (i)-(c), (iiD)~(a)
1-(id), 2-(iii), 3-(1)

In the hierarchical order of learning and acquistion of behaviour learning denotes a higher type of learning.
&HMHM6L LDMHMILD BL GG Q& W6 & weumniler Lig Blenev auflensuiev &MHMEV 6TEITLIGI 6(H 2_LLITT 616585 W T6oT
HHMMVE GMIER M.

A: Problem solving
FE&o60 GILILS
B: Associate learning
Tl (& &HMHM6V
C: Concept learning
H®SS HDOD6L
D: Verbal learning
amiQwmd s&mhmey
In 2006 urged to create the synergy between education and research in higher eduaction institution.

2006-@) 6L 2_Wsevel Blmialers&ev &ealld@h oI TilFREGWD @) 6L G 6H MG e 6mrLIamL 2 (HauTdHhs a6 nSH g

A National knowledge commission
CHAW 3M6) 2,60600T LILD

B: Hartag commission
QaMFLMH &G

C: Kothari commission
CaTHSM GW

D : National policy of education

CsAW Heveils QG TeTen &

In the mode, the teacher assumes the role of facilitator of teaching experiences and arranges conditions in such a manner that students raise
questions about a topic or event.

WileL LOMETOTEU T & 6T HeMEULIL| 2J6V6V I Bl&LD6 S GM &SI Co6TallaemeT 6T LILILD alem& U6, &MLNGE6 2 eILI6IMnI 6T
LMHMID gouUmdH &ener ererlgmas@Ueufler Lnkiend G Wl euH &R .

A': Expository approach
eileé: & 918G WM
B: Inquiry approach
26| SILVIS DD
C: Enquiry approach
&l & ITT60) 6007 4 600 & (LPENM
D: Impository approach
DG T60)600T WLIT60T 3|00 (S (LA6D)D

Time and motion studies are examples of obseravtion.
GBILD MM @uISGELWD LMW U6 &He6T 2 MMIGHTEHSHNGHSHTET 6T(H&HSI&HSHTL(HSH6T.

A Simple observation
ererfl 2 MmMIGHTE:&H 6L
B: Systematic observation
LPEMUWITET 2_MMIGHITE &6V
C: Uncontrolled observation
SLOUUTLMM 2 MMIGHTEHH6
D: Mass obseravtion
Q6UGR60T 2 MMIGHITE 560

Two Statements, related to scale construction techniques are given below :

(a) In consensus approach, a panel of judges evaluate the items chosen for inclusion in the instrument in terms of logic relevancy.

(b) Cumulative scales are chosen on the basis of their conforming to some ranking of items with ascending and descending discriminating power.
Select the correct options :

jemafl (b &L (HILDMeoT Bl LIMIGET Q&ML LT @ Tevor(h 2Ml&Hen&HH6r GG Q&m(H& e LILL (h6TereoT.
(a) @IS 31801GWeMUiley, @1 BH LB SH6T G HHaNS6T CFFESLILIL L H606VLILIS6M6T H606VLIL| QLITIHS S H) 60T
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g LiLemLulev HLILTEH QFLRME.

(b) 3B &f&EGD HMID GeMBSEUHLD LITGUTLGH FHH LT Falqwl Flev auflen&F LI & 5608 6H 5 E ©)600T i@ 68 60T
S LiLemLulev el (h QLTSS 3j6mes 6T G5 H6 S M) & 8L 1LI(H G 60T M 6oT.

Fiflwmer a@pLILG CoHTeNemers CHIHOSH&E&HALD.

A: (a)Only
alol(HLd
B: (b)Only
b LB

C: Neither (a) nor (b)
a WLh @6Vemev buLh @)6Lem6y
D : Both (a) and (b)
a LOMMILD b @ Fevor(HiLd
causal-comparative Research is also called as :
Frgmyent LT (G g liuenLuleumer ey 6TauTE D Si6m P& LILIGID.

A: Ex-post-facto Research
QUUILIAUTHET QeuaflLiLm@® ayUie]
B: Correlation Research
QBTLY 2.6 Blene Spliliey
C: Experimental Research
CFMHEMEIT LG LILIeDL 24,16
D: Longitudinal Research
QFBIGSH S BlemevsCHTH U6

If the Questions on the interview emerge from the immediate context and are asked in the natural course of things, then it is referred as interview.

GBI TeTed60 2 _6iTe CaHaTel &6, 2 L 6orlq @&Lnedlev @ hh&! QeusflliLL (B @uievLimer CUTESR CHLGLILILLITE, 35
GBismenTey eTedoTml GMIILNLLILGH mE!.

A: Standardized open-ended
SILUGSSUIULL BDHS Wige)

B: Informal conversational
(PEMEFMTTIT 2 60 WITL6V

C: Standardized closed-ended
SILLGSSULL eplgWwl (L6

D: Closed, fixed response

LOLYULI, [B]60)6VLLITEOT LIS 6V

The term 'Action Research' was first used by

QWL QLT TUIFR 6T60TM QEFTEV (NG 60T(LN G656V Q60 LWeTUBISSLILLL G

A: Turney and Robb

Leofl Lo mid Gyl
B: Stenhouse

GVGILIT6ET M6 6N
C: Kurt Lewin

S Qevaileor
D: John Dewey

sgmedr Gudl

Writing will need to meet a number of requirements to successfully pass the readability stage

They are

(i) Sentences must be well formed syntactically

(ii) Sentences should not be below a minimum length

(iii) Recursion must be kept to a minimum

(iv) Choice of words should invary

Choice the correct answer from the options given below :

am&LiL Bleneuenw QaummM&Inns &L && 61 S LI CHenal&Hemerl LLTEEH & uiw Caleor(b.
(i) UMSSH WMHIG6T QST FHIWIMS H6TE el el LUILL Galeuor(® D,

(il) UTER WIS 60T HeTHens GmMBSLILF SjeTenel il GMM&EHSHE Gl MG,

(iii) LMY B1&HLDE| GMBSLL L FIOMEHS GHenmE s LILL Geuesor(h L.

(iv) Q&FTH 6T 6r C5I6y LDMMILIL &&n L M.

6 Q&EMH&HsLILLGaTaTammle @ Bha FHlWTT QSTLmIS CHT6] Q&I LD.

A (i), (ii) and (iii) only
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i, ii, LDMOILD iii LOL_(HILD
B: (ii) and (iv) only
i LDMMID iv DL HILD
C: (ii), (iii) and (iv) only
D: (i), (iii) and (iv) only
i, iii, LDOMOILD iv DL GHILD
The study of space and distance in communication is :

QaTLILIWeN6L @L LD InMHMID STTES 60T SyU16) 6T60TLISI

A Relational
QSTLILeMLUWSI

B: Illustrators
elleng:&H &eT

C: Proxemics
@Lailwe

D: Kinesics

2 Le@umfl

Given below are two Statements.

Statement (i) : Team writing means people getting together to plan, write and revise writing projects as a group or team.
Statement (ii) : Another name for this practice is collaborative writing.

In the above statements, choose the most appropriate answer from the options given below.

Q&EMH&SELILIL B 6TET @ T6tor(h) FoMMIGH6T:

G M0l G TGS 6T6TLISI DESH6T Q61N Folq B L AL D), TS, TWSSIS B L EGE6T R0 G LS 3|6ufls
QBTGHWTE H(HSSID Q&F W LNEHMWITESLD.

GOl 1I: QHS HEML(LNMMEG G 6TRETTIH QUWT Sal (b 6TWDSHS! UGS LD.

BN &6 S mmiserfley, ECL QEMTH&&LILLH6TeT el BLiLmIsGeflev & e b QUTBSSLDTET 6Ll
CaIHOSH &6 LD.

A: Both Statements (i) and (ii) are true

@uetr () & OIS EBLD (1) LHOILD (1) &Fifl.
B: Both Statements (i) and (ii) are false

@uer®) FoHDISHEBLD (1) HDILD (IT) Heu L.
C: Statement (i) is true but Statement (ii) is false

Famml 1 &1l 9LeoTTeL Fa i 11 Seumi
D : Statement (i) is false but Statement (ii) is true

Fa MM 1 HEUMI SLETITEV S DM 11 &if]

When the media inform us about threats from terrorism, hurricanes or volcanoes, depressed economic conditions, increasing inflation or military attack is called
6M|_&MhIG6IT HLO& G LIWMISTEUTSLD, L6, 6Tfllnemey, QaulgliL], QUITHETTSTT L0hS Blemey, SH&lH G LietTaids s
SVEVG! @) TITEIC &TEEGSH60 CLIMETM F&HMISHGH6T UMM QsiflelliLug.

A Surveillance
55600155 Moot 1111
B: Instrumental Surveillance
&H(HEN UG 8600785 Tevof1LIL]
C: Beware Surveillance
c1&Ffl 5608 560018 Mevol 1111
D : Public Surveillance
QUITBILD & & 6T &600T& M6o0t1LIL
Unfocussed interaction is coming under

HEUGTEF FNHM6EL QSMLIL] 615N G6T eUBRMS?

A: Intrapersonal communication
HeTeeT QSmLFLIW6

B: Interpersonal communication
LNm@LeoTmest Q& TLFLIW6v

C: Computer mediated communication
Hevoflevt] 26L& QB TLTLIWeEL

D: Mass communication
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20

D& 86T QS TL LWL
The sum of three numbers is 176. The second number and the third number are in the ratio of 4 : 15 while the first and third numbers are in the ratio of 1 : 5.
Then the first number is :
PLNGOTM! 6T600TES 611 60T S (DG Q& Te0I S5 176. @) [T600TLITEU G 6T600T LOMH MILD CLOGOTMITLD 6T600T 4:15 6160 6N1GH S 5T 6V _6iT6ITeor. (L& 6V
LOMHMILD CLNEITMITEU G 6T600TE6IT 1:5 6TedT) IG5 H60 2_6TEITeor. (LG 6V 6N Sl 6T600T 6T60TeoTel Mas U (B &5 (& h?

A: 18
18
B: 24
24
C: 32
32
D: 36
36

A person travels equal distances with speeds of 3 km/hr, 4 km/hr and 5 km/hr and takes a total time of 47 minutes. The total distance is :
(1 L0601 H60T FLNGTTEHMS 3 &), LS/1nevof], 4 &).15/106v0f), 5 &).15/106001), Couds S H 60 QF6dTM) &1L 88 47 BILAL 186 6T(h & 5 60T M medr
eTeuflev, QOMG S ST &S L flev

A: 3km
36U
B: 4km
4 6118
C: Skm
5 618,
D: 6km
6 &.L15.

The population of a city increases at the rate of 7% annually. If the present population is 22, 898. What it was 2 years ago ?
R(H BHTSH 6T LDHSHET QBTN 7% i 5H 6V AHHHEHMSI. HHELTMSW D& 6T QG Tend 22,898 61607160 @) T6v0r(h)
21,6001 () & 6 (& (LDEDT @) Sl 6TEOTETEU TS @) (HHS) (H&GLD?

A: 18,000
18,000
B: 20,000
20,000
C: 21,200
21,200
D: 22,000
22,000
If 8 men can do a work is 4 days then 2 men would finish the same work is days.

8 L EUOTHET (1 CaUemEVemLL 4 BT G660 QF IS TMETT. 6T6vT16V, 2CH CaUEmEVEMU 2 21,600TSH 6T 6185 6Me0T BITL_&H6rle0 Q& UG
W LUTT&6T?

A: 10
10
B: 8
8
C: 12
12
D: 16
16
The next number in the number sequence 2, 12, 30, 56, .... is

2,12, 30, 56, ... eTedr eT6vor auflenr & ulledrT (B G eT6voT

A: 72
72
B: 78
78
C: 90
90

D: 86
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23

86

In the statement followed by two conclusions numbered I & II, decide which of them logically follows beyond a reasonable doubt from the information given in
the statement.

Statement : Irregularity is a cause for failures in exams. Some regular students fail in the examinations.

Conclusion : I : All failed students are regular

1I : All successful students are not regular

Q&ETHGSLILLL FGamm MmN @) (OLY6&6T I LnMmMmILD 116V, FamleTLIY ST6E FH TS| BT FHCHHSH MG
SLIUMHUL LGl eTerr STL0Mevfld el L.

FaMml: R(PMEISTET alHensWlaranin Caralley CHIFF QUMMENLNGG R ST, Flov RPMHEIGTSE al(Hems Lflud

L0 meooTeUFg 6T GHIallev CHIEFH CLIMIEIS 6V60)6V.

(W196Y I: TELELIT CHTFH QIUIMITS LOMETITEUJ&HEBLD 62(LDMIGTE GBS LIflLIGUTE6T.

II: 6T6LEVLIT GHFTEF QLIMM LOMETTEUFTEEBLD (LPMHIGTS aI[Hem& LFIWLMSalTSH6T.

A': Only conclusion I follows
Vel I LLHIGL QHEGLD
B: Only conclusion II follows
e II L GG @IHSH G0
C: either I or II follows
W16 1 Sj6V6uGI PIg6) Il @BSHGLD
D: neither I nor II follows
P96 I DOMILD P96 I @ TetT(HGL @) (HESH TS

If Sumathi is 7 ranks ahead of Revathy in a class of 39. If Ravathy's rank is sevanteenth from the last. What is Sumathi's rank from the start ?
39 LDITEUOTEU T 8560 6M& Q& TEtTL 62(H 6U@GLILN6L &L eTedTLIOIT GrauGlemnil &ITL 1960 SHTeuflenguilev 7 (6TETTEL @) HHHMITH.
oL AU mHES Creud) 17 augl @ LSS 60 2 6TaT My 6Tevfleb oL TILSH e BHS &G uller Srauflens erereor?

A 14 th
l46ug)
B: 15 th
15618
C: 1gth
166Ul
D: q7th
176ugl
Statement :
All art is an imitation of nature
Music is art
Conclusion :

Hence Music is an imitation of nature Represent it by a suitable Venn Diagram.
Fo.HMIGET: 6T6VEVIT HeMEVLLD @) WIMem&ulledt LG LIedILiL]
Q@& 62(H H6MIEV

WP19.6)]: eTeTGal @ em&F ILmeTgl @ umenssuller e LTEHILIed L.
@5 GGG Q66T UEMITLIL LD

A:

Nature
Art

Music

@uimens
&6V




B:
Nature Art Music
@umnens 860160 @ens
C: 7
Music
Art
Nature
@ens
560160
@uwmnens
D:
Nature Music Art
@umnens Qe 6560

All sunflowers are yellow. This bouquet contains sunflowers. What can you conclude ?
emars g GHWSTHES LL&&EHLD DEHEF6T BIMW. @bhs LEQ&HTESH 6 & &THS L,8 56T 2_dTarer. BT erareor
WI96|5E aGeIT&6T?
A The bouquet contains only sunflowers
LBIN&ETSS G &THSE LL,&&Ha6T 0L HCL0 Q& meor(hl6Tengi.
B: The bouquet contains only flowers
LBIQ&HTSHS LE&Hm6T L HIGL0 Q& meur(h6Tars!
C: The bouquet contains sunflowers and other flowers
LHEQSTEHS GHWSTHS MM LMW LLESH6T 6 &mesor(heTergl
D: The bouquet does not contains any flowers
LBIQ&HTSSI 6THS 62 (H L& 606D Q& MeuoTLY.(H & HeIl6Vemey .
Medieval School of Indian logic belongs to the period .
BB W FT5555 60T @ 6e0L_&&Mev LieTer] WITEOT &ITVSENS FMHHSSTGSLD.

A: 1200A.D.to 1800 A. D.

1200 &).L9. wpg6v 1800 &).L9. euen iy
B: 650B.C.to 100 A. D.

650 &).(p. PB6V 100 &.L9. auemiy
C: 100A.D.to 1200 A. D.

100 &).19. W &6V 1200 &.L9. auemiy
D: 50A.D.to 100AD.

50 &).19. W6V 100 H).L9. euemiy

In a bar diagram, the bars are :
UL 6L ellemdaLILLSH 60 LILemL et 2AGLWD.
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28

29

30

31

A Vertical
QFHIGS3
B: Horizontal
HlemLLOL L oMUl
C: Vertical or horizontal
QIFRIGSHS VeLSl HemL DL L LOMUI
D : Neither vertical nor horizontal
QFMIGSSID HemLLOL L LD GFeoor(HLD G)6V6tI6V
A graph of frequency distribution constructed by plotting the frequency density against the mid-points of the class is :

a6t BO LI 66l & Eh s TH IS &G 66T 3L TS &ML (B 6T eLneuLd 61l eUemLN& S LILIL L B8 L6 6 6vor
LIT6U6V eUeTLIL LOTEUTS!:

A Pie diagram
UL L efleTd sl LD
B: Bar diagram
ULl emL eflemd sl LD
C: Frequency polygon
151 85LD Q)61 600T LIGOT(LN S 6U6MTLIL LD
D: Sub-divided bar diagram
Faml LILemL elemgsss LIL LD
Values collected and recorded with little or no checking calculation or interpretation is known as :

FAolw FHlumily o6veugl FUMFLL 6066l &HeooTdS(h 2i6Veval allaTd & &SIl 6T GF&fl&H&LILLL IHmild LG e
QEFEWWLILLL oS 86T LN6tTeu(BLO MM 260108585 L1LI () &) 60T M 60T

A: Discrete data

QsTLIFRWMHMD ST6l

B: Continuous data

QBTLIERWITeT HJe)
C: Raw data
pev Hey
D: Both Discrete data and Continuous data
(A) LHIYILD (B) @Tevor(GILd
In tabulation, refers to column headings
S| Leueneoruilev, eTetTLIG QBB eufleng Seanevllenll GM&EHMSI.

A : Title of the table

3|L_L_6U60)600T H6mI6VLIL|

B: Captions
FH6M6VLIL| & 6T

C: Stubs
QUL L MIG6T

D : Headnotes
FHn6eV GMILIL| 86T

The number of times a value appears in a sample is called as :

&@® LTH U6 T8 56T (emm @ HLIL| CHTETMIRMS! 6T60T 36MP&HSLILIGI6SI

A: Sample
e
B: Frequency
15185 Lp Q61 6uoT
C: Population
LWLE OBTEGS
D: Survey
& 6001 G & (H1LIL]



Match the e-governance principle :

(1) Data Intensity (i Datais protected from loss, unauthorised for data
quality and security

(2) Data Security (i) Each data set has a frustee accountable for data
Quality security

(3) Data Trustee (i) Datais easily fransferable and usable

(4) Data Portability (iv) Datais accurate, consistent and un-tampered

16T &y, (6ThemLD GlameTemauilenerLl GlLIMT(HSS5Is.

(1) &rey @mewuurg () seurers Gul whmid
ungsTUSnsTs,
SnEsflssluLTs
SIgmIse5len QlHbHS)
urgsraslubhlEmns),
(2) &UeyumgisTIY (i) @euCleuT® srays
LIBsTGHUINEGLD ST6 S5
ST LDHDID SHT6Y
ungsrinE
ClurmliLimesT 6p(m
S MBISTEUEVT 2_6T6TTI.
(3] B SIDEISTEUET (i) &Ueersilglen wmHmE
Falglig| LHMILD
LwsTU(h &S5 Falglig)
(4} 275 Qanang) (iv) B Hleveblwiomeng,,
GClFwsvhHlmetr Fyments) WHMLD
G LTSS

Az (D(iv), (2)-(D), 3)(ib), (4)-(iii)
1-(iv), 2-(i), 3-(ii), 4-(iii)
B (1)-(0), @)-(iv), (3)-(ii), (4)-(iii)
1-(1), 2-(iv), 3-(ii), 4-(iii)
C: (D), @), (3)-(iii), (4)-(iv)
1-(i), 2-(ii), 3-(iii), 4-(iv)
D (D-(), (2)-(id), (3)-(iv), (4)-(ii)
1-(1), 2-(ii), 3-(iv), 4-(iii)
The application of information and communication technology (ICT) for delivering government services is :

@)60)600T LLILD eLN6VLD S JEFMMEIGLD QULPMEIGLD CFmMEaUGHEMETL QLIMELD, S6m6l QGTLTLITET $85 6160856t QS IHS Q& maTera|Ln
(ICT) 2_sa|lb LiweTUm(H

A E-learning

LA 68T BMHMeV
B: E-Banking

LfledT eurmI&
C: E-Mail

LA 60T 24 (E€H&F 6V

D: E-Governance
LSl65T 9y, EBEmLD

Which is/are true statements ?

(i) MP3 is used for audio and video

(ii) MP3 is used for audio

(iii) MP3 is used for video

(iv) MP4 is used for video

B D5 &HE00TLaUMMI6) 2_6T0T60 L LLITE0T Fon (DMIGHEIT 6117
(i) MP3 eTedTLIGI 6269 Lo mILD ep6rf] aulg el & TLIL|&6T
(i) MP3 6T6dTLISI 6269 6uIq.61 G&ITLIL|SH6T

(i) MP3 eTedTLIGI 6p6rf] Ulg.6l GSHTLIL| 6T

(iv )MP4 6T6dTLIZI 6p6rf] 6ulg.61 GoITLIL| S 6T

A: (i) only
(i) L (D
B: (ii) and (iii)
(i) LDHMILD (iii)

C: (ii) and (iv)
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(i) LDOAILD (iv)

D: (iv)only
(iv) (LD
Indian Space Research Organization (ISRO) launched an exclusive satellite called for education.
@bH W elleorQeler] ouITUIFS Blomieerd &evallsaHTs etetTm LTS CWS QF LMD &HS C&memeT el 6Temsl.
A: ETV
Frig.edl
B: INSAT-IA

@eTEFML — 1A

C: INSAT-IB
@erFmL —IB

D: EDUSAT
TR&FML

Compressed files can be in the format of
FHEHSHLULLL CHMLULSHET G)hS algal55H 60 @ [H&HSHMLD.

A: .COMP
.COMP
B: .ZIP
ZIP
C: .ZAR
.ZAR
D: .MP3
.MP3

What is the acceptable day time noise limit in a busy airports according to CPCB ?
LUguUgLiumeT GUTHG6aUTSS! CHTSH 60 alllomeT Bleneu g S ev CPCB - @) 60T M MIGHE & M6TETE Fnlqll LISV GBI 6269 aUIiDL]
6T60T6OT?

A: 50dB
50 dB
B: 60dB
60 dB
C: 70dB
70 dB
D: 80dB
80 dB

In which valley India's first geothermal power plant was located ?

@b wmaller Wwa e Liel@eauliL g,mmey L6 Bleneullid 65 LIETTS TSRV 1emLDbHSI6TengSI?

A: Spiti
el
B: Nubra
magmT
C: Puga
LL&sIT
D: Yumthang
eTLDG Ml

Statement I

Environmental ethic changes our role from conquerors of the land to that of a protector of the environment

Statement 11

Ecological ethics limit social as well as individual freedom of action in the struggle for existance.

&HHSSI-1: FHMEF GLP6 QBN (LD MEET, & M MmIF @606 BleuHIGen 6T Qeumml Gl& M LalT 66T Blemey LIMSISTaI6T TS
WMHMLD Q& TETeTEF QFURMSI

SHHSHSI-2: GLeNuiley QBMLEMEET @ELILGS T GLTTTLLEH 6 Fepd mHmLDd Geofl el &FSHHH T&HamS
SLOUUOSSHDE!

GLDM G6T0TL & (H & S5 & 6rflev

A Statement (I) and (II) are incorrect

&HHSS-1 IDHOID &HHSSH-2 FfluMeTsev6v
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B: Statement (I) is correct whereas (II) is incorrect
&S5 S-1 &) HHSS-2 ey

C: Statement (IT) is correct where as (I) is incorrect
HHS5S5-2 &) HHSS-1 Fflwcvey

D: Statement (I) and (II) are correct

HHSSI-1 DI &(HSS-2 & UWLTeTen 6l S 6T

Which of the following is not a potential site for geothermal energy sources in India ?

Netraumeeormnilev @bH wimellev LieNQeauliLl SpMHmevi& & meT &FMEHS WL SHeTlh S(6V6VTSHS! 6157

A': Puga valley - Jammu and Kashmir
L& LIGTONS ST G- (D DMMILD &req sy
B: Amaravati - Andhra Pradesh
rras-b& Tl NTessin
C: Tuwa - Gujarat
SIUT-GBITS
D: Bakreshwar - West Bengal

L&HGIaqeli-GLoMm @ eUMmIGTeTLD

Which of the sustainable development components are adversely affected by disasters ?

1. Early development

2. Economic development
3. Social development

4. Environmental protection

Bl955 eueTIFF &8 meor | haFmigertlev etemel CUIFIL ML B &L LITHLILIE L HEI6Teng?

(1) (PHMGS W QUETTES
(2) QUITBETTSTT eUeT &S
(3) (WHMGW aUeTTEFF
4) HHMIFSHLP) LIMSISTLILY

A: 1,2and3

1,2 lDmmILD 3
B: 1,3and4

1,3 moilh 4
C: 1,2and 4

1,2 nmmiLh 4
D: 2,3and4

2,3 oMb 4

Match List I with List II.
List I
a. The Water [prevention and conftrol
of pollution) Act
b. The Air (prevention and confrol
of pollution) Act
[0 The Environment (protection) Act

d. The Motor vehicles Act

List Il

1974

1981

1986

1982

1988
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uLiguisy I go uligwiso I 2 Lett Llum(hehs)s.

uLiguisv - I uLiguisv - II
(a) 1By (maumrligsst SHILL (i) 1974
wmmIb sLHuuT()
(b) smHm (rELTLigssT (i) 1981
(b0 LHDID
sLHuumb)
(c) &mmiEssy (urgsmiy (i) 1982
FLLLD)
(d) GTLLITT 6UTe60ThIgGsT (iv) 1982
FLLLD
(v) 1988

A a-i, b-ii, c-iii, d-iv
a-i, b-ii, c-iii, d-iv
B: a-i, b-ii, c-iii, d-v
a-i, b-ii, c-iii, d-v
C: a-ii, b-iii, c-iv, d-v
a-ii, b-iii, c-iv, d-v
D: a-iii, b-iv, c-v, d-i
a-iii, b-iv, ¢-v, d-i
Three years of Bachelor's Degree, for pass as well as Honours, was recommended by the .
CHIFH WMHMID GLDG 6N & 60L& ST CLOETMI 6L @) 6TMhIG 66V LILL LD, 60 LfhsIenT&saLILL L G

A Calcutta University Commission (1917)
FLSHHHIT LIVEHDVSH BN L,6M600TLD (1917)
B: Bombay University Act (1928)
LIDUMU LV &HeMeVE SIS FLL LD (1928)
C: Aligarh University Act (1911)
NG LL&HMeLESHLPS FLL LD (1911)
D: Higher Education Commission (1882)
2 W vl ShemeuoriiLh (1882)
Which of the following Universities were established as unitary Universities for teaching and research by the rulers of princely states ?
LN 6tTeu(BLD 6THG LI6VS 606088 0 MhIGHET &L06M0 & TeoT 1S 6fl6dT oL SILIMeT & 6mmel, HMHLINGS56) InMMID QT TULFR&EHTS
@DHMWTL G LIVS 608 &L08MIG6TTE BlMIeuLILIL L 6oT?
A: Calcutta , Bombay and Madras
HVEHSHSIT, LIDLITUI LDMMILD G & 60T6m) 60T
B : BITS-Pilani, Tata Graduate School for social work
LN ev-LNevment], Fewnas Lieooflaasmeor LT LILL &Il LieTerf]
C: Mysore, Osmania, Annamalai
DG, RENVGLOEDILLIT, )6T0T600T ITLO6D)6V
D: Central Hindu College, Visva Bharati
WEHW @Bl g, efeveuimy

At the time of independence, in 1947 India had universities.
1947-60 @BHWIT &HSHH T 3|6 HHECLIMS! LIV&6D6V5H & P& IS 6T @) ([HIH S 60T.
A: 10
10
B: 15
15
C: 19
19
D: 21
21

Which body is instrumental of meaningful partnership between the states and the centre, Particularly at evolving a consensus on the major policy issues in the
field of human resource development ?

IDMBleVAEIGEHSEGLD, IDSH U S|T&HEHGWD @)L U6 THSDETET Fal L M6 gHLG SSISNHG, GMILILITS L6l a6
GLUTLGS slemmuiley (PERW Q&MaTe s LITFR &6 GMEs RBLISS &HSHNS 2 (HeUTEHGUSNE 6THS SlemLnliL]
2 e RDSI?

A: Central Advisory Board of Education (CABE)



S W Hevell 2LCTF6TE & (CABE)
B : District Institute of Education and training (DIET)
Wmall L sevell mmild UM Blmieuestid (DIET)
C: Ministry of Human Resource and Development (MHRD)
e Geu6T MHMID CLWLUTLH 2emn&FsHD (MHRD)
D : National Council of Educational Research and Training (NCERT)
CsA W sevell QL IMLFR momid LuHS BloiaueTd (NCERT)

Case Study from Question No. 46 to Question No. 50
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PASSAGE

Water and weight loss

Crash dieting takes the biggest toll on the water reserves in our body. Loss of water is one of the biggest issues in crash dieting and its associated 'guaranteed
weight loss'. Crash dieting which restricts nutrient and water intake leads to rapid water loss from your body. This on the weighing scale will show itself as
weight loss.

Thisg drop in body weight is not reduction of body fat but loss of all important water. Loss of water impairs circulation, reduces muscle bone, joint and bone
health and obviously overworks the kidney, heart and lungs. Yes, it will also lead to body odour because the composition of sweat changes.

Losing weight is no big deal, if you lose body water. Body builders and wrestless routinely adopt this practice. They bring their weight down by as much as 4
kilos on the day prior to a competition. This allows them to complete in a lower weight group and improves their chances of winning. But what do common
people like us gain by crash dieting.

USH

B Hoib eremL @iy

SImeq LWL 19 ml B 2 LedSev 2 6imerm BT @ LIS &serle Waslauflw urGH iU gHUGSSHMS!. SImeq Ll g nmGHe Bi
@)Ll LMHMID SIS 6T QSTLIL LW '2 S5 TalMSInmeT eTenl @il epfwemnel WasLauflw LrdF& anerserfley
RETHTGLD. 26T L FFS5 5 MM BT 2 L Q&meTaren s &L GLUGSSID RTmeq LuL 1Q Mk 2 HigeT 2 Led6) @ hhal
allemgeumet B @LoLIL&E alfleu@GERmal. sTemL Wadlefleh @& eTenl GLLUILITGS &meoor 186 &LILHID.

2 L6 eTemLWiletT @b efbFRWMers 2 L6 Q&BMWLImLS GemMLILIS D6V6V, SL60TIT6V B 6M6TSH S (LD &S WL 6ot
Sevorenstem Wb @Loliugl. BT @il @Uss @L LS5 UTHLILSILET, S6n& aaulbl], oL () MHmilh eTepldL

UCIMHERH WSS WD GmMERMS! HmID AoBresd, @& WD WHMb BenTuiTene HH&NMS LUTHERME. @&
aflwFemeauuleir &evemal IDTMIAIGSTEV 2 L6V SITHTHMSEH MG euflel@ s @&LD.

BiIG6r 2_Lev Beng @LESTeV, 2 L6V eTenl Gemnmealgl Quflu ellaquineen. 2 Louulm QFUILeIFs6T InMmmID WSS
afyaer @b HemL (LPenmen eUP&HSLONS LNaTUDHMIRMTIST. CUTLIY &G (LHSW BT HeUTHET &MhiG6ET eTenLeml 4
FRCEUIT QUENT GMMERMTIEET. @& GOMIBS 6TemL Q& MevorL & Walley CUMLIQUIL Sj6aUT&Hemn6T ABINHER MG DHMID
Qaumn QLMIEUSMHESTET aUTUILILS606T GIDLINS SR MG, SLE0TITEV &6 L UIL LG MBI eLNeVLD HLOEmLOLT GLITedTm
FTLOM6oT W5 6585 (& 6T60TE0T GUITLILD ?

Which of the following is a consequence of water loss due to crash dieting ?

LNetraumelestaumnilev &Imeq Ll I1qBiGHev gHUBLD BT Gammeusmey gmu@GLD eNlenere] 61! ?

A': improved muscle bone
CLMSSLILLL S HesoremLn
B: better joint and bone health
FAbHS el B WMHMILD eTIDL] 3L,CI &S WD
C: overworked kidney, heart and lungs
55 Calemev QF I LD A Brsid, @swid mmih Biemyuiyey
D: decreased body odour
2 L6V SIFBTHOD GeDMmS6V.
Why do bodybuilders and wrestlers lose water before competitions ?

2 1 6b WM QFUILIGUTS6T MHMID VWSS ST TH6T CUITL L& EHHE (LDETL]| &e600T600i6m T G)LOLILIGI F6dT?

A: To enhance muscle bone
S & Gevoremlnenl 95 & 65
B : to increase their strength
FHMHIG6T auedlemnen il HH &5
C: tocomplete in a lower weight category
&ombs eTemL Lflaflev GUMLiquilL
D: toimprove cardiovascular health
@BsSW CITERWSNS CLDLGSS

What is one of the main issues with crash dieting ?
&rmeq LWL 1q IR WwesEHW Lrs& enerserfley ¢edrtmi ereoreor?

A itresults in permanent weight loss.
@8l BIThsT el GeLLEES aflaGSERS!.
B: itcan lead to significant loss of water in the body.
@5 2 Led6h MU E568 BT QLLUILES 6uLlelG&GE&HESLD.

C: it improves circulation and joint health.
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88 Qs el LD Hmib el G werméESwsams CibLGSSIS mS!.
D: it guarantees fat loss.
@8 Q&ETWlIY @YLLUSE 2 HSTMSLD 2aflsEH M.

The term 'crash dieting' means
&HImeq LWL LMl 6T6TLIGI ©

A attempts to lose weight rapidly
GeUSBLDITE 2 L6V 6Te0L 60 G6MMES (DWMHFLILIS
B: frequent changes in diet
Q&G 2 600T6) (P MUN6L LOITMH MG 6iT
C: avoiding junk food
QBMTMIEGEGS Heoflesamer g6
D: taking a healthy diet
2 CITER WILDTET 2 60016 2 L Q& TeTal gl

What is the consequence of a drastic change the composition of sweat due to water loss ?

B @olifermev gmu@GD elwFeneuufler @emnwillev gmupid el nmHm&SH 6T ellemerne, 6TedTeor?

A increased body odour

218 &fHs 2 L6 SITBIHOLD
B: decreased body odour

2 L6V SIFBTHMLD GHMMS6L.
C: rise in blood pressure

QUES WSS AP &S5

D: drop in blood pressure

QIS8 WSS GOMS6V



